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Economics
ÅEconomicsis the social science that studies the optimal decisions and choices in 

the utilization of scarce resources (money, manpower, raw materials, land) in a 

way that most effectively achieve societyôs desires for consumption, production, 

and distribution of goods and services.  

ÅEconomics has little to say about the optimal distribution of this wealth and related 

issues of equity, which fall in the domainof Political and other social sciences.

ÅThe term economicscomes from the Ancient Greek oikonomia, ("management/ 

administration of a household").

ÅIt has three main branches:
ï Macroeconomics,which analyzes the entire country economy and issues affecting it, 

including economic growth, unemployment, and inflation, and the use of fiscal and 

monetary policies to optimize them.

ï Microeconomics, which examines the behavior of basic elements in the economy, 

including individual agents (such as households and firms or as buyers and sellers) and 

markets, and their interactions. 

ï International Economics, which has two sub-branches: International Trade and 

International Finance.International trade studies the determinants of flows of goods-

and-services across international boundaries and the gains from trade.  International 

finance examines the flow of capital across international borders, and the effects of 

these movements on exchange rates and investments. Increased trade in goods, services 

and capital between countries is a major effect of contemporary globalization. 2



Macroeconomics
Å The macroeconomic size of a country is defined by the total amount of goods 

and services producedin a given year. 

Å This total output is called Gross Domestic Product (GDP).

Å The payments for these goods and services represent Income (Y).

Å In calculating GDP, only Value-Addedby each firm is included (not total 

sales), in order to eliminate duplications (that is, the production of tires and 

batteries is counted, but they are not included in the figures for cars).

Å GDP is calculated by adding various Expenditures:

ïConsumptionby the private sector (C)

ïInvestmentsby the private sector ( I )

ïGovernmentconsumption ( G )

ïNet Exports [exports (X) minus imports (J) ] which is net foreign 

consumption of our products.

Å Therefore:GDP  =  Y  =  C  +  I  +  G  +  X  - J

Å GDP can also be calculated on the Productionside by adding the value-added 

of Agriculture, Manufacturing, Construction, Trade, Education, Services, etc.

Å A third GDP calculation is made on the Incomeside,  involving the adding of 

all wages, salaries, rents, interest, profits earned during the period. 3



GDP: National Accounts
(Initially, without Government and External Sectors):

Y = C + I ;     Y = C + S      Ÿ C + I  = C + S Ÿ I = S 4



Now we introduce the government sector, but without the external sector.

Y = C + I + G  =  C + S + T    Ÿ  (I ïS) = ( T ïG)
If a government increases Expenditures G, either private  Investments I will 

go down, or private Savings S will go up by the same amount

(I - S) = (T ïG)   Č I + (G ïT) =  S  Č I total =  S

(10 - 10)  = (6 ï6) 

Gŷ by 2, then IŹ   or  Sŷ

(8 ï10)  =  (6 ï8)
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Francois Quesnay, Tableu Economique, 1758; Simon Kuznets, National Income, 1929-1932; 1934 (ed Kharkiv)

An economyôs money flow, with government and external sector.
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Calculating GDP Growth based on Expenditures
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         GDP  =  C  +  I  +  G  +  X  -  J 
 And: 

          C = f (income, wages, pensions, consumer credits, inflation, consumer confidence) 

 I  = f (interest rates, foreign direct investments, bank credits, investment climate) 

 G = f (government revenues, credits to government, socio-political factors) 

 X = f (GDP/income of trading partners, steel and commodity prices, other competitors) 

 J  = f (domestic income, inflation, exchange rates)  

 
 Previous Year 
                                                     GDP  =       C    +       I       +    G    +        X        -   J 

        Estimated growth                2.9%ŷ         16%ŷ      14%ŷ       2.9%ŷ    - 12.2Ź     7.5%ŷ 

        Shares of GDP                    1.00            0.58         0.21         0.17          0.52        0.48 

        Estimated contributions                         (9.3)        (3.0)        (0.5)         (-6.3)       (-3.6)  

      

 Current Year 
                                                    GDP   =      C      +     I     +     G    +       X      -      J  

          Estimated growth              7.3%ŷ        14%ŷ      16%ŷ       6%ŷ        +3%ŷ       15%ŷ 

          Shares of GDP                  1.00           0.60        0.25        0.18          0.48         0.51 

          Estimated contributions                      (8.4)        ( 4.0)       (1.1)        ( 1.4)        (-7.6)  

  

 Forecast for next Year 
                                             GDP   =      C      +     I     +      G     +       X      -      J  

          Estimated growth              4.0%ŷ       13%ŷ       14%ŷ       5.0ŷ           0 ŷ        16%ŷ 

          Shares of GDP                  1.00           0.60         0.25         0.18         0.48         -0.51 

          Estimated contributions                      (7.8)        ( 3.5)       (0.9)         ( 0)          (-8.2)  

 



é.Calculating GDP Growth based on Expenditures
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 Next year, the economy is likely to have a reasonable rate of GDP growth of 4.0% (sensitivity analysis shows a  

 possible GDP growth range from 3.5% on the lower end to 4.4% on the upper end.   

 This result is due mainly to the following factors: 

¶ Growth in private consumption is likely to continue next year but at a lower rate than in the past (13% vs 

14% and 16%). This is because wages and pensions will continue to increase, but at a slower pace due to 

stagnation of industry (caused by slowdown in exports) and fiscal budget constraints.  Furthermore, bank 

credit will be more restricted (due to the recent measures of the NBU to contain credit growth principally to 

control inflation). In addition, inflation will also reduce "real" money balances, further depressing 

consumption.  Nevertheless, private consumption will  make a large contribution of 7.8% to GDP growth. 

¶ Private Investments are expected to do well, but not as well as last year, again due to limitations in the 

availability of bank credit and a poor investment climate which constraints foreign direct investments.  

¶ Government consumption is expected to grow at a lower rate than last year, due to fiscal budget problems. 

¶ Real Exports are expected to show no growth as export quantities are not expected to increase (due to the 

worldôs economic slow-down caused by the international liquidity crises) and since metal/chemical prices 

are expected to remain stable (no increase) during the year (due to oversupply principally from China).  

¶ Imports  are expected to continue to drag the economy and increase by 16% principally due to the recent 

increases in gas prices (which will depress GDP growth by about 0.6%.) 

 



Defining Macroeconomic Performance

A sound economy is one that has both macroeconomic stability and sustainable 

economic growth.

ïMacroeconomic Stability is defined by stable prices with low inflation 

(internal stability), and a stable foreign exchange rate (external stability).

ïSustainable Economic Growthis defined by a  high rate of GDP growth that 

can be maintained over a long time, with low unemployment rates. 

To assess country performance, two sets of issues need to be  reviewed:

(1) Actual Results in key Economic Areas:

a.  Actual Internal and External Stability

ÅInternal Stability as shown by the domestic Inflation Rate

ÅExternal Stability of Foreign Exchange Rate & Balance of Payments

ÅLevel of Foreign Debt in relation to GDP, Exports & Reserves

b.  Actual Economic Growth

ÅGDP Growth Rates, structure of sources of growth, and unemployment rates.

ÅSaving Rates and Investment Rates

ÅTotal Factor Productivity Growth and international competitiveness

(2)  The Adequacy of the Policy and Institutional Framework to Sustain  Future 

Economic Results:

a.  Macroeconomic Policies to sustain internal and external economic stability; and 

b.  Economic Policies to sustain economic growth. 9



Internal Stability:  Inflation Rates (IMF)
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Countries with inflation of over 10% pa in 2012: Belarus(70%), Syria(34%), Sudan(32%), 

Iran(27%), Argentina(27%), Venezuela(21%), Tanzania(15%), Uganda(15%),Mongolia (12%)



Real GDP Growth Rates (2012 Est)

Country % gr

Macau 21 

Panama 8.5

Ghana 8.2

Cote d'Ivoire 8.1

China 7.8

Rwanda 7.7

Mozambique 7.5

Uzbekistan 7.4

Congo 7.1

Nigeria 7.1

Ethiopia 7.0

Sri Lanka 6.8

Zambia 6.5

Tanzania 6.5

Qatar 6.3

Kuwait 6.3

Indonesia 6.0

Saudi Arabia 6.0

Georgia 6.0

Peru 6.0

Venezuela 5.7

Thailand 5.6

Kazakhstan 5.5

India 5.4

Chile 5.0

Bolivia 5.0

Latvia 4.5

Malaysia 4.4

Belarus 4.3

Colombia 4.3

Uganda 4.2

Burundi 4.2

Armenia 3.8

Azerbaijan 3.8

Mexico 3.8

Russia 3.6

Norway 3.1

Moldova 3.0

Turkey 3.0

Israel 2.9

Korea, S. 2.7

Argentina 2.6

Slovakia 2.6

Poland 2.4

Japan 2.2

United States2.2

New Zealand2.2

Canada 1.9

Hong Kong 1.8

Brazil 1.3

Sweden 1.2

Bulgaria 1.0

Germany 0.9

Romania 0.9

Ireland 0.7

Austria 0.6

Ukraine 0.2

UK 0.2

France 0.1

Belgium 0.0

EU -0.2

Denmark -0.4

Netherlands -0.5

Czech Rep -1.0

Hungary -1.0

Spain -1.5

Slovenia -2.2

Cyprus -2.3

Italy -2.3

Portugal -3.0

Greece -6.0

When GDP declines for two quarters, the economy is in recession.  

A depressioninvolves a GDP decline of more than 10% lasting over 2 years.

With GDP growth of 7.2% pa, the country will double GDP in 10 years 11
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Policy Results in Emerging Markets and Developed Countries
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Policy Results in Emerging Markets and Developed Countries
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Policy Results in Emerging Markets and Developed Countries



Macroeconomic Policies to Support the Economy

ÅA key question in Macroeconomics is what a government can do to support:

ïGDP growth, including reviving growth after depressions/recessions

ïJob creation and reduce un-employment

ïPrice stability (low inflation).

ÅIn order to achieve these three objectives, the Government can use:

1. Supply-Side Measures, such as improving the business climate 

(reducing excessive regulations and taxation, dealing with corruption, 

red tape, etc) in order to encourage investments, GDP growth and jobs. 

2. Demand-Side Measures, such as:

ÅFiscal Budget Policies:  Provide additional fiscal budget resources to 

consumers and firms to expand consumption and investments.

ÅMonetary Policies:  Increase money supply and lower interest rates to 

stimulate consumption and investments. 

ÅConservative economists (mostly Republicans) favor Supply-Side measures 

(Neo-Classical) and believe that demand-side measures are not effective.

ÅMany liberal economists (mostly Democrats) believe on the merits of 

Demand-side measures (Keynesians) to revive growth. 15



1. Supply-Side Measures: Economic Growth and Adjustment
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Determinants of an Improved Business Environment
(I)   Macroeconomic Stabilization Policies: Fiscal and monetary policies are NOT 

used to encourage growth, but just to secure stability in prices and exchange rates

ÅFiscal Policies under which the Government's fiscal budget has a deficit that 

can be financed by borrowings on a sustainable basis (normally no more than 

3% of GDP) and public debt does not exceed 60% of GDP.

ÅMonetary Policies, under which the creation of money (money supply) will 

not exceed the demand for money (which is affected by income, prices and 

interest rates). Normally money supply should not increase by more that 3% -

5% pa more than GDP growth.

(II)  Structural Adjustment to Promote Economic Growth

(A)  Improve the Business Environment

ÅRemove Barriers to the Formation and Operation of Enterprises

ÅRemove Constraints to the Closure of Failing Enterprises

ÅRemove Undue Gvt Interferences in Product Markets: Pricing and Trade

ÅImprove Efficiency of Factor Markets: Financial, Labor and Land Markets

(B) Strengthen Institutions and Public Governance

ÅReform Public Administration to provide efficient Government services.

ÅProvide a stable and predictable legal environment, without corruption.

ÅLower political risks. 17



The Nine Investments Drivers of the Bleyzer Foundation

Cross-countries studies made by TBF found that the following nine factors 

or ñdriversò were key to improve  the countryôs business climate, attract 

investments and support GDP growth:

1. Macroeconomic Stability: Fiscal and monetary policies that will result in stable 

prices (low inflation) and foreign exchange rates.

2. Sound Public Institution and Public Administration, that would carry out 

required reforms effectively and deliver government services efficiently.

3. An stable and predictable Legal and Judicial Environment, with protection of 

property rights and capable of delivering unbiased judgments.

4. Deregulationof Business Activities to minimize red tape, minimize interference 

in businesses, and facilitate the formation and operation of enterprises.

5. Sound Corporate Governance with rules that would eliminate raiding and 

provide protection to minority shareholders

6. Liberalization of foreign trade and capital to encourage exports (as growth 

source), imports (as source of competition/efficiency) and foreign investments.

7. Financial Sector reform to facilitate the financing of businesses 

8. Strong anticorruption measures, including preventive and curative measures.

9. Improve country image and minimize political risks. 18



TBFôs NINE DRIVERS TO ATTRACT INVESTMENTS

Å The most important measures to encourage growth are intended to minimize 

business risks and improve predictability.  

Å The intention of the reforms is not to provide subsidies!

A.  Minimize Business Risks 

1.  Provide Macroeconomic Stability to lower fluctuations in exchange rates and prices

2.  Improve Public Administration, Governance, and efficiency to Minimize red tape

3.  Improve the Legal/Judiciary Environment, to protect property rights

4.  Reduce Political Risks  and Improve Country Image to Attract Capital

5.  Deal with Corruption to eliminate rent-seeking by officials 

6.  Improve Corporate Governance to eliminate raiding and provide protection to

minority shareholders

B.  Maximize Opportunities for/and Remove Constraints to Profitability:

7.  Deregulate and Liberalize Business:  Freedom to Start up and Operate a Firm.

8.  Liberalize Trade and Capital: Freedom to Trade and transfer capital across Borders.

9.  Improve the Financial Sector to Facilitate the Provision of Financing for Growth 
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Å Achieving economic growth, low unemployment and stabilization through 

ñsupply-sideò measures (to increase investments and growth) will take time.

Å In the short-term, if the economy is economically depressed (for example, due 

to a financial crisis) governments could be motivated to take ñrapidò 

Keynesian measures to revive economic growth. 

Å These measures would normally involve ñdemand sideò actions to give 

money to consumers and firms to jump-start consumption/demand and cause  

increases in supply: expansionary fiscal policies and loose monetary policies.

Expansionary Fiscal Policies and Fiscal Deficits

ïA government has a number of expenditures, including the provision of 

ñpublic goodsò, such as military defense, education, law and order, etc.

ïTo finance these expenditures, the government collects taxes.

ïIf the government spends more that it collects, it has a Fiscal Deficit, which is 

the difference between the money that the government collects (from taxes) 

and what the government spends (in defense, education, health, etc).

ïIn theory, government expenditures and revenues should be equal and the fiscal 

deficit should be zero.  Otherwise, these fiscal budget deficits must be financed by 

government borrowings, which will increase the size of public debt.

2.  Demand-Side Measures

20



Expansionary Fiscal Policies

ïSince fiscal deficits will increase public debt, in general, in ñnormalò times, it 

is not desirable for governments to have fiscal deficits and accumulate debt.

ïBut when GDP is not growing (following a recession), many economists 

(Keynesians) believe that in such times, the government could over-spend 

(use expansionary fiscal policies - Gŷ) and incur fiscal deficits to give money 

to people to revive their consumption and then promote supply growth.  

ÅBut there is the  question of how effective these ñdemand sideò policies are to 

stimulate growth over the short term?? 

ÅThe effectiveness of this ñfiscal stimulusò depends on three conditions: 

(i) whether the country has ñfiscal spaceò to finance these fiscal stimuli 

without increasing public debt to unsustainable levels; 

(ii) whether the country has the capacity to generate a short term ñsupply 

responseò to the stimuli (rather than just generate additional stimulus 

for imports or price increases); and   

(iii) whether the stimuli and the initial expansion of income will not be offset 

by ñnegative secondary effectsò such as higher interest rates, lower 

investments and lower income that may come later on. 
21



(i) Fiscal Space

ÅA country will not have fiscal spaceif its level of public debt is ñexcessiveò 

ÅIn this case, any fiscal stimulus will increase public debt to levels that 

creditors, investors and consumers will not accept. 

ÅCreditorsmay just not provide financing or will  require higher interest 

rates, generating even larger fiscal deficits.  

ÅInvestorswill not carry out any expansions due to uncertainties on taxes.

ÅFurthermore, if public debt is excessive consumersmay not buy more 

goods, but may prefer to save the additional resources, because of fears that 

the government may increase taxes in the future to repay its debts. 

ÅTherefore, these Keynesian fiscal policies could work, but only if 

government debt is not too high.  Several studies show that a maximum 

sustainable public debt is about 60% - 80% of GDP.  Beyond this level, 

interest rates on debt may explode and debt would increase exponentially.  

ÅSustainability studies show that over time, fiscal deficits should not exceed 

2% - 3% of GDP, which is about the maximum that can be financed by debt 

in a continuous manner.  Higher fiscal deficits would be sustainable only if 

GDP is growing fast (over 5% pa) and real interest rates are low. 22



(ii)  Supply Response

Å A second condition for the success of expansionary fiscal policies is the 

capacity to generate a ñsupply responseò, which implies the existence of 

spare capacity and the absence of supply rigidities.  Ample spare capacity  

tends to exist after a major economic crisis, making fiscal policies more 

relevant, with higher fiscal multipliers over the short term.

Å If spare capacity is limited or if there are supply rigidities in key consumer 

areas, fiscal stimuli will not be able to increase production.

ÅWith a fixed amount of local goods, fiscal stimulus will just increase prices 

and/or result in larger imports, both of which would cause income (GDP) to 

decline later on.

(iii) Secondary Effects

ÅA third condition for successful fiscal stimuli is that the initial income effects  

will not be offset ñquicklyò by subsequent negative secondary effects.

ÅFor example, an increase in Government spending (Gŷ) may have as a result 

an increase in income:  Gŷ ŸYŷ      but then, in subsequent rounds:  

Yŷ Ÿ    Mdŷ  Ÿ  rŷ Ÿ  IŹ Ÿ  YŹ

rŷ Ÿ ForCapŷ  Ÿ FX Appr Ÿ   XŹ , M ŷ Ÿ  YŹ

If  Yŷ  Ÿ   Due to MPM  Ÿ   Mŷ  Ÿ  YŹ
23



ÅThe result of the initial fiscal stimulus (Gŷ) would be an initial expansion 

in income (GDP, Yŷ), but subsequent effects are likely to cause declines in 

GDP (YŹ) ,  with the result that the net effect might be a decline of GDP.

ÅThat is, the final fiscal multiplier would be negative or negligible at best.

ÅMost economists agree that this is likely to be the case, but disagree on 

the timing of these secondary effects: Neoclassicalsbelieve that these 

effects will be felt quickly.  Keynesians argue that the secondary effects 

may take years and the country can enjoy income growth in the meantime . 

ÅIn principle, most economist would agree that, due to the negative effects 

of fiscal policies on GDP growth, fiscal policies should be avoided as 

instruments to revive growth, unless the recession is so severethat urgent 

measures are needed NOW, despite future negative effects.   

ÅIn summary, fiscal policies can be used only if there is ample fiscal space 

(initial public debt is low), if there is ample excess capacity with good 

supply responses, and if the immediate effect in income is worthwhile (due 

to the severity of the recession) despite the subsequent negative effects in 

income.
24



Fiscal Budget Deficit as % of GDP (2012 Est)

Rank Country (% of GDP)

214 Venezuela -17.50

206 Egypt -10.40

204 Syria -9.50

203 Japan -9.10

200 Ireland -8.50

194 United Kingdom -7.70

193 United States -7.60

192 Greece -7.60

189 Spain -7.40

182 Pakistan -6.40

175 Portugal -6.10

168 Ecuador -5.70

160 Netherlands -5.10

148 France -4.50

130 World -3.80

126 Canada -3.80

125 Ukraine -3.70

116 Argentina -3.20

113 Austria -3.10

Rank Country (% of GDP)

105 Italy -2.90

103 Mexico -2.80

97 Turkey -2.60

96 Romania -2.50

89 Kazakhstan -2.40

84 Poland -2.10

74 China -1.60

68 Bulgaria -1.40

56 Australia -0.80

52 Colombia -0.50

41 Russia 0.00

38 Germany 0.10

36 Switzerland 0.30

33 Korea, South 0.60

30 Peru 0.90

26 Chile 1.40

19 Brazil 2.70

7 Saudi Arabia 11.90

5 Norway 15.20

25
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Gross Government Debt as % of GDP (2012 Est)

Japan 236.56

Greece 170.73

Italy 126.33

Portugal 119.07

Ireland 117.74

United States 107.18

Belgium 99.03

Iceland 94.17

Spain 90.69

France 89.97

United Kingdom 88.68

Canada 87.52

Cyprus 87.26

Germany 83.04

Austria 74.34

Hungary 73.99

Israel 73.29

Netherlands 68.20

India 67.59

Brazil 64.08

Pakistan 62.37

Gvt Debt below 60% GDP

Poland 55.103

Slovenia 53.203

Malaysia 53.05

Finland 52.58

Venezuela 51.31

Norway 49.61

Switzerland 46.71

Slovakia 46.35

Argentina 45.22

Thailand 44.17

Czech Republic 43.12

Mexico 43.08

Taiwan 41.73

Philippines 41.49

South Africa 41.24

New Zealand 38.62

Belarus 38.33

Turkey 37.70

Sweden 37.15

Ukraine 35.24

Bolivia 34.82

Romania 34.63

South Korea 33.46

Hong Kong 33.09

Colombia 32.18

Australia 27.07

Indonesia 23.90

China 22.16

Luxembourg 21.71

Peru 19.59

Ecuador 18.77

Bulgaria 17.88

Kazakhstan 12.39

Chile 11.42

Russia 11.03

Saudi Arabia 5.49

27
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US external foreign government debt is 34% of total government debt or 37% of GDP.
29



Sustainability of Fiscal Deficits

ÅIf the fiscal budget deficit is too large, then government debt (both in dollars 

and as a percent to GDP) will be increasing fast.

ÅThere will be a moment when the government can no longer obtain financing, 

interest rates on government debt will increase rapidly and the country may be 

forced to default on its debt, generating a major financial crisis. 

ÅTherefore a key question is what is a ñsustainableò fiscal deficit? 3% of GDP?

Definitions:
FD   =  Primary Fiscal Budget Deficit (If sign is +, means deficit)
Y     =  Real GDP
Yn =  Nominal GDP
fd =  FD/Yn (fiscal budget deficit as a share of GDP)
B     =  Government Debt Stock
b      =  B/Yn (government debt as a share of GDP) 
DB   =  Increase of government debt
%ȹB =  Rate of Growth of government debt
i =  Nominal Interest Rate on government debt
r      =   Real Interest Rate on government debt
P     =   Price Level

Å A Sustainable Fiscal Deficit is one that can be financed over time without 
increasing the debt/GDP ratio, b.That is, the debt load b is in equilibrium and 
remains constant over time.   

30
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(1) Budget Constraint

FD + iB = DB        The overall ñprimaryò fiscal deficit (FD) plus debt

interest  payments (iB), must be financed (DB)

FD = DB - i B           If DB= %ȹB B {%ȹB=growth rate of debt}, then:

FD = %ȹB B - i B    Dividing by GDP (Yn), we will get:

fd = %ȹB b - i b In which ñfd" is the ratio FD/Yn and "b" is B/Yn.

(2) Sustainability Condition

The condition of sustainability is that the ratio of debt to GDP ñbò will 

not be increasing over time.For this ratio B/Yn to be constant, B and 

Yn will need to increase at the same rate; that is: %ȹB  =  %ȹYn

If Nominal Y (Yn) = Real Y (Y) + DPrices,   then,%ȹB  =  %ȹY + %ȹP

If  Nominal interest rates (i) = Real interest rates (r) + DPrices,    then:  

fd*   =  (%ȹY + %ȹP) b  - (r + %ȹP) b          

Or:       fd*  =  (%ȹY - r ) b   where fd* is the sustainable fiscal deficit.

ïIf  %ȹY = r    the sustainable fiscal deficit fd* is zero.

ïIf  %ȹY > r   the sustainable fiscal deficit is positive (could have deficit)

ïIf %ȹY < r   the sustainable deficit is negative (need for fiscal surplus).
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ÅThe size of a sustainable fiscal deficit to GDP ñfd* " will depend on: 

(i) the growth rate of real GDP, %DY;  

(ii) the real interest rate on debt, r; and 

(iii) the ratio of debt to GDP, b that lenders would tolerate given the 

credit rating of the country (not a controlled #).

ÅThe higher the rate of growth of GDP, the higher the sustainable 

fiscal deficit to GDP can be.

ÅThe lower real interest rates, the higher the deficit can be.

ÅWhen r >%DY (negative term), the higher the ratio of debt to GDP  

the lower the fiscal deficit can be, and vice-versa.

ÅFurthermore, for the sustainable fiscal deficit ñfd*" to be constant at 

the level ñfd*" (not increasing/decreasing over time,), ie; ȹfd* =  0; 

then ȹ(%DY - r) b = 0 Ʒȹ%ȹY = ȹr   That is, any change in real 

interest rate should equal a changein the rate of growth of GDP.

If  ȹ%ȹY > ȹr, then the ñsustainableò deficit will be increasing

over time, creating ñfiscal spaceò for additional expenditures.

If  ȹ%ȹY <ȹr, then the ñsustainableò deficit will be declining  

over time and actual deficits may need to be reduced.
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Examples: 
ÅA country is growing at 6% pa, borrows at a real rate of 5% pa and the maximum 

debt/GDP that lenders wish to hold is 60% of GDP.  
ÅThen, the maximum sustainable primary fiscal deficit is 0.6% of GDP :

%ȹY r  b  . fd (fiscal deficit/GDP)                               .                             
0.06 0.05 0.60 (0.06 - 0.05)(0.60) = 0.006   or  +0.6% of GDP

ÅOther plausible scenarios show that if debt/GDP is 60%, the country needs to grow 
fast and pay low interest rates in order to afford any primary fiscal deficits (+):

Under most conditions, on a sustainable basis, if the debt/GDP is 60%, a country must 

have a ñprimaryò fiscal balance (excluding interest payments) between a ñsurplusò  

of 5.4% of GDP and ñdeficitò of 2.4% of GDP (average surplus 2.0% of GDP.) 

If nominal interest payments are about  5% of GDP (with debt at 60% of GDP), the 

ñoverall financialò fiscal deficit should be no more that about 3% of GDP.


